
Изм. Лист № докум. Подп. Дата
Разраб.
Пров.
Т. контр.

Н. контр.
Утв.

Лит. Масса Масштаб

Лист Листов
Нач.отд.

КВ

КВ202304.01.000

Узел сцепления 14,3 1 :1

1 

Копировал

09.04.2023

1

1

2

2

3

3

4

4

A

A

B

B

Формат A1

30
Ø

Ин
в. 

№
 по

дл
.

По
дп

. и
 д

ат
а

Вз
ам

. и
нв

. №
Ин

в. 
№

 д
уб

л.
По

дп
. и

 да
та

Сп
ра

в. 
№

Пе
рв

. п
ри

ме
н.

КВ202304.01.000

52
Ø

17,2

95

155,5

25
Ø

6

73
Ø 25

Ø

ФорматЗона Поз. Обозначение Наименование Кол. Примечание

       
                  Документация   
       
   КВ201709.01.000 Сборочный чертеж 1  
       
              Сборочные единицы   
       
  1  КВ202211.00.000 Редуктор 1  
  2 КВ202304.02.000  Муфта 1  
       
                         Детали   
       
  3 КВ202304.00.011  Плита 1  
  4 КВ202304.01.001 Втулка шлицевая 1  
  5 КВ202304.01.002 Диск 1  
  6 КВ202304.01.003 Ось 1  
  7 КВ202304.01.005 Фланец 1  
  8 КВ202304.01.006 Втулка 1  
  9 КВ202304.01.008 Барабан 1  
       
            Стандартные изделия   
       
  10  Подшипник 60104 ГОСТ 7242-81 1  
  11  Болт DIN 933 - M6  x 14 10,9 8  
  12  Болт DIN 933 - M8  x 30 10,9 4  
  13  Болт DIN 961 - M8 x 110 10,9 6  
  14  Винт DIN 912 - M10 x 1 x 40 10,9 3  
  15  Винт DIN 912 - M10 x 1 x 55 10,9 3  
  16  Винт DIN 912 - M8 x 20 10,9 2  
  17  Гайка самоконтрящаяся - 3  
    M10x1   
  18  Шайба DIN 433 - 8,4 6  
       
       
                  Прочие изделия   
       
  19 DIN 630 - 2205 - 25 x 52 x 18 Подшипник 1  
    самоустанавливающийся   
    шариковый 2205 DIN 630   
  20 SWAG 20 86 0003 Муфта SWAG 20 86 0003 1  

75

68,5

185

222,3

246,3

268,5

250,5

38
2

2

5

6

9

11

19

1

3

20

16

13

18

4

10

7

12

14

17

36

1,5

123,5

8

15


